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; 100kN/M#%#BZ % - -~ -|3mERZD -~ - -| 100kN/m%#8Z% % - -~ -|3mEBZD ~ -
ZznLst 1.00 | 0.00 ~ 360 5314 | =hst | 0oo ~ 360|214 941 Zzh st 1.00 | 5.00 ~ 5.80 53.14 | Fhs | 65.00 ~ 680|214 9.41
2 100kN/mM##BZ % ~ -|3mERZD ~ -| 100kN/m%#8Z% % ~ -|3mEBZD ~
ZznLst 1.00 | 0.00 ~ 367 54.17 | #Fhdst | 000 ~ 000| 1.87 823 Zzhn Lt 1.00 | 5.00 ~ b6.14 54.17 | Fhs | 6.00 ~ 6514 | 1.87 823
3 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
zh st 1.001 000 ~ 657 9819 | #nst | ooo ~ 657|226 9.96 ZThLLS 1.00 | 5.00 ~ 1234 9819 | NS | 5.00 ~ 1234 2.26 9.96
4 100kN/m##8Z5| 1.00 | 000 ~ 221 138.81 |3mZE#BZ 5| 0.00 ~ 0562|331 14.568 | 100kN/m%E#BZ % | 1.00 | 1265 ~ 2844 13881 |3mEREZB| 2500 ~ 2844 | 3.31 14.58
Zzhnst 1001221 ~ 889 100.00| Thbst | 052 ~ 889 | 3.00 13.20 Zzh st 1.00 | 5.00 ~ 1263 100.00 | =R | 500 ~ 2500 | 3.00 13.20
5 100kN/m# 25| 1.00] 000 ~ 245 145.44 |3mEFEZB| 0.00 ~ 0.60| 5.34 14.68 | 100kN/mM#E#BZ5 | 1.00 | 1262 ~ 3639 14344 |3mZERBZB| 25,00 ~ 3639 | 3.34 14.68
Zhst 100|245 ~ 914 100.00 | EnLs | 060 ~ 9.14| 3.00 13.20 ZThLLS 1.00 | 5.00 ~ 1262 100.00 | #nS | 500 ~ 2500 | 3.00 13.20
6 100kN/m# 25| 1.00 ]| 000 ~ 218| 13826 |3m%EiBZ5| 000 ~ 138|367 16.16 | 100kN/mM%#825 | 1.00 | 1326 ~ 4509 13826 |3mE#B2B| 2500 ~ 4509 3.67 16.16
Zhnst 1001218 ~ 886 100.00 | ThLst | 1.538 ~ 886| 3.00 13.20 Zzh st 1.00 | 5.00 ~ 1326 100.00 | #nLS | 5,00 ~ 2500 | 3.00 13.20
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnLst ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
ZzhLst ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
LS ~ ZNLS ~ ThLLsh ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
LS ~ ZNLS ~ ThLLsh ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
ZThLLS ~ ZNLs ~ ThLLst ~ LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh Lo ~ Zh LS ~
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